UaE '!1%?1 SH

Gibbons, Jean Dickinsogs \QhenpdééaéitJL Statistical Infe:en‘-

Science. Noewis

Hogg, B.Y_, and Craj

Statistics, ian Company, 1965,

Siegel, Sidney. Hmnparu tle fur the Behavioral

C’

Science,

P e e T e

Kolgakusha LTD., 1956.

FwIANNSaluuIIngas
CHuLALONGKORN UNIVERSITY



FwraNnsaluniingas
CHuLALONGKORN UNIVERSITY

60



61

10 RER *kkk*k MAlN *kkkkk

20 HOVE

30 SHOW*  "Nonparar.etnc Staistical f-ackage Version 1.0*
40 PROBNAMES  "<----- Nonparaaetrie Mair tenu------ >*
se VTAP(1J HTAB<15) FRINT PROGNAVES;

te VTAG(4) HTAB(20): PRINT "<1> File handle routine*;

70 VTAB(6): HTAB(20):PRINT "<2> Statistics Nenu"

BO VTAF(B): HTAB(20) PRINT *(3> End of processing m;

se VTAB<14):HTAB<20) PRINT "Select no. "L

10$ VTAB 20:HTAB 15:PRINT SHOWS,

MO ANS! A ": VTAB{14):HTAB(33):ANES=INKEVs 1F ANSS=* THEN lie

—

I50 IF INSTRC 123*ANSS) (> ( THEN ne ELSE BEEP 20.20 GOTO MO
no ON VAL (ANSI) GOTO 150,160,170

150 GOSUB 190 GOTO 20

160 RUN "STATHENU

170 HOVE VTAB 12:HTAB 20:PRINT x<....... End of processing.......... >h;
1B0 SYSTEM

190 REM ------ CREATE FILE ROUTINE...........

200 REN CDFRTN 18-08-84 ................

220 H » #Col File. 1 Ha*Col 80 Function 4"

230 DATAFLS=SPKES(B):FUNCS=" ?
240 ROW=1:COL=1:POMTS- ->e¢
250 ACTIONS- ABPEIH

C70 PROGNNS = e<— -- File handle routine
2B0 PRINT SPC(26)iPRDGNHS

290 LINE INPUT  [/Enter file naae / <cr> exit to Main aenu *ANSS
+300 IF ANSS="" THEN RETURN =

310 IF LEN(ANSS) ) 8 THEN ANSS  NIDStANSS,1,8) ELSE ANS$=ANSS
320 DATAFLS=mE: *+ANSS+m.DATa

330 CNTRLS"EIVANSSe’ .HDR"

050 NAME CNTRLS AS *B:NORK"
360 NAME "B:NORK AS CNTRLS
3(0 OPEN V , 11,CNTRLS,4

3B0 FIELD #1,4 AS CNTRL.RECS

400 NOREC  VAL(CNTRL.RECS)
410 IF NOREC THEN 430
420 RENFILES- Y*

440 FIELD *'’ 80 A" RECORDS

ue REC=e:c*0: GDSUBVIele : PRIHJIPDNt5; "Enter function (Add/Edit/Print/eXitl *:CCOL=40
470 VTAB (CRON) :HTAB(CCOU :ANSS=IN)JEYS: IF ANSS = THEN 470 ELSE PRINT ANSS

480 cc = INSTRUCTIONS, ANSS)

490 IF CC THEN 500 ELSE BEEP 20,20 ANSS = *":80T0 470

500 ON CC GOSUB 1000,2000,3000,4000,5000,6006

510 REN A D P E | H
520 GOTO 460
1060 REN ------ ADD RDUTINE -— —

1010 FUNC ,Adi Record* :.BUFF ,,:ANS "":NDRE"RDRECM:RECrNOREC : c = 1

1020 GOSUB 6026 :1F RENFILES ~ *Y" THEN VTAB 24 HTAB 1:PRINT "->Nev< file and function is Add record",
1030 yTAEICRON) : HTAB(CCOL) : ANSS=INKEYO: | F ANSS="" THEN 1030

1040 IF INSTR(» 127567690 .ANSS) THEN 1080

1060 IF ANSS  CHPS  ,ANt"BUFFM) e+« AND CCOL > 1 THEN CCOL = CCOL-1:BUFF DS (BUFFS, 1, LENIBUFFSM )

i4 Il MAIN. BAS
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HTAB(CCOL) :PRINT SPCdJ :VTAB (2> HTAB(17):PRINT USING *##*,CCOL;:BDTO 1036

1*80 PRINI2ZANS<?0C0LI=3C00L + 1 VTAB(2):HTAB<L7)IPRINT WENG "»r;,CCOL;:BUFF»=BUFF»tANS»:ANS»=""
090 IF’cCOL > 80 THEN VTAELCPO ): HTABn ):PRINT BUFFI; SOTO 1120

ini IFPBUFF*e= THEN FUNC» , ? , :NDREC = NOREC - 1 RETURN

1130 LSET RECORD* = BUFF*

1140 PUT 12,NDREC NOREC = NOREC ¢ 1 REC = NOREC :C =1
1156 CRCOW-CROW-* 1: CCOL=1: FUFF*=m": BOSUB 6120

1166 IF CRON < 23 THEN 1630 ELSE GOSUB 6020  GOTO 1030

2000 REN - ------ delete record ----------
RCTP 9U .PCTI&N
mi REN ------ '‘print data routine ---------

3010 FUNC* = ‘Print file":CRON=CRON+:CCOLM

J020 VTA6(CRON): HTAB(CCOL):PRINT PONT»;"Please set your PRINTER 1If ready then <cr> m
3030 VTAB(CRON): HTAB (CxOL+46) : ANS*=INKEY»:| F ANS»=" THEN 3030

040 IF ANSt'0"CHR»(13) THEN BEEP 20,20 -GOTO 3030

35 LPRINT CHR$(15)J BB
[ .
3110 LPF.INT:LPRINI TAB<30);*<.......End of file ---c-a- x
"3120 RETURN
4000 REN ....coovooo.... EDIT ROUTINE — — — —

4610 FUNC* ="Edit record":BUFF» = mm ftEC=0:c=0:BDSUB 6020

402e PRINT PONT»:"Edit record no. .

4030 NN=0:VTABICRON):HTAB1211:INPUT ¢ *]NN

4$4$ IF NN = 6 THEN FUNc .M m *PETURN

4656 IF NN > NOREC THEN VTAB<CROW): HTAB(40):PRINT NDREC;'Rec in file *;:BEEP 20,26 :60TO 4030
4060 GET 12,NN :VTAB(2) HTABC7): PRINT USING "tit ;NN;

4070 BUFF* = RECORD»

4080 CRON  CRON+1 :CCOL=l IF CRON >= 23 THEN REC = NN C=0:BOSUB 6020

K i [ « /A
4110 VTAB(V): HTAB(C) ANS*-INFEYS:IF ANS»="" THEN 4110
4120 IF INSTRi 6123456789+-.", ANS») THEN 4170
4130 IF ANS»=CHR$(13) THFN 4190
4140 IF ANSt-CHR*18) AND ¢ > 1 THEN C=C-1:VTAB(2):HTAB(17):PRINT USING m»»";C;:GOTO 4110
4 56 IF ANS4-CHR»(91 AND ¢ < 80JHEN C-C+1:VTAB(2) HTAB(17) PRINT USING »I";C;:GOTO 4110

4170 NIDHBUFF»,C,)*= ANS» VTAB(V) HTABIC): PRNT AN, ANS'=* c=c+1: VIAB2): HTAR(17) : FRINT LBING “«*+;G:GOTO 4
4186 IF ¢ > 8 THN C2 VI'AB(Z) HIAB(17 PRlNT WBNG "irfCiiGOTO 4110 B<E 41(0
4190 LSET REQORD! =

4210 CRGW*=' CRCW+1C ?FCIIRON > 23 THEN GOSUB 6020

4220 VTABtCROW);HTABLI):PRINT PONT*;' Record «as updated e
4236 CfiQW=CRDN+J: IF CRON > 23 THEN GOSUB 6020

4240 GOTO 4020

5000 REN — m EUT ROUTINE —
fie  ANS*=STP*(NOREC)

5020 LSET CNTRL.REC» = ANS»

5030 PUT #1,1

5050 PRINT PONT»;"No. Record in file ":NOREC
5060 PRINT PONT»;"File  ,BATAFL»; «as closed."
5070 FOR | = 1 TO 50 INEIT | :RUN*NAIN"

6600 REN ----- - HELP POUTINE — - ........
6010 EEEP 20,20 RETURN
6620 REN ----- set heading ------

6040 VTAB(L): PFINT SPC(20);PROGNN»
6050 VTAB(2):PRINT USING HDF:»:PEC;C;DATAFL*;FUNC*
6060 VTAB(3) PRINT "1 10 20 36 40 50 60 70 80";
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n

R N

I

til U ppTiiptd

6120 REM o---------- PRINT_HEAD o
6130 VTAEM2) :HTAEi(I ) :PRINT USING HDR*; REC;Q;DATAFL*; FUNC¥
6140 RETURN

6150 REN .. ........... LFRINT HEADING
-6160 LFRINT CHRS (12>

6!SO LPRINT SPC<30);PROENVS

6190 LFRINT TAB(20);'File nate  *;DATAFLt

6200 LFRINT TAB( );"1 10 20 30 « 50 60 70
6205 LFRINT TAB(5);

6210 FOR | = 1 TO 8

6220 LFRINT ------ —

6230 NEXT 1

6235 LFRINT m

6240 RETURN

20000 REN — — — - ERRDR ROUTINE -------------

20010 IF ERL = 350 AND ERR 53 THEN RESUNE 370

20020 IF ERL = 360 AND ERR = 53  THEN PRINT '-/invalid file na»e .Enter File nine only":RESU«E 290
20030 FOR 1 =6 TO 20 VTABU):HTAB(1) PRINT SPCI75):NEn |

20040 IF ERR = 6 THEN ENGGt = 'Over<l * GOTO 20100

20050 IF ERR = 7 THEN ENSGt = 'Out of «eiDry’ :GOTO_20100

20000 IF ERR = 11 THEN ENSG» = "Division by zerol GOTO 20100

-.0070 IF ERR =57 THEN ENSGt = ‘Disk I/o error’ SOTO 20100

20080 IF ERR = 61 THEN ENSGt = 'Disk Full’ -GOTO 20160

20090 ENSGt : *Sd*b .error occurs*

1 1 §1; IL“ m Bli »el
20120 yTAP(24):HTAB( 4): AAt — INKEYS:IF AAt =  THEN 20120
20100 RESUNE 10

80’
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40
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70
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120

140
150
160
170
180
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215
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266
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280

306

310
320
336
346
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370
380
390
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446
460

475
4

4
4
4

64

REM «««l»* ETAT MENU «o#d«<«* 12-68-B6
PPOSNAME» 'Statistics Menu ----- >n

DIR VARMK «]Mj9LBAN(9),LENGTH» 19)

HONE : PRINT SPC<20)i FROBNAVE»

OPEN *RVII/STATHSG.nr.BB

FIELD #1,33 AS MSS»B AS fGRH»2 AS RDM,2 AS COL»35 AS m i
GET #1,1 -CNTRLI  KS6»

FOR | 2 TO 30

FOW: VAL (RONI ) COL=VAL(COL»)
VTAB(ROK):HTAP(COL):PRINT MSG»:

VTAB(22):HTAB(20):PRINT 'SELECT
V1AB(22):HTAB(30):ANS< = INFEV»:IF ANSI = * THEN 150
IF ANS»  m + THEN BEEP 20,20:GOTO 150

IF ANS» >= V  AND ANS» ( *1* THEN ANS»=CHRE(ASC(ANS*)-32)
RECNO = INSTRICNIRL», ANS»):PRINT ANS»

IF FICNO fj THEN BEEP 26,20 GOTO 150
STATNAME» = nSG» PROGSTAT$=PSRMi: FLAB«=U X*
IF ANS» THEN RON PROGSTAT»

CLOSE

REP,

HOME PRw"sPCU4);PROGNAHE»

VTAB<31 HTAB(1) PRINT m-Statistics rase 'iSTATNAMEI;
REM ----- GET FILE NAVE -----

FONT» ->n

\/TAB!RONhHTAB(COIﬁ\H/{/\IE INPUT “-IEnter data File na*e ,;FILENAME#
Ir rilFWAHPt ‘'mm

IF LEN(FILENAME*) > B THEN FILENAME* = MID*(FILENAME*,1,B)
FILENAME* *B:meFILENAME*

OPEN R*,f2,FILENAME»* HDR".4

FIELD 12,4 AS HDR*

IF VAL(HDR*) = 0 THEN 370 ELSE 420
CLOSE 12:BEEP 20,20
FILL FILENAME»* HDR*

PON:RON*1 ‘PRINT e->Invalid File naae 1 Re-enter e

PRINT ‘FILES B:*.DAT*: VIAB(24):HTAB(20)'PRINT -<Cr> to return MAIN MENU ;
K B A

REM -------mmn--

NV vAUGIOT(FLAG», 1,1M

VARtm  SPACC»(2):LENGTH»(1)=SPACE»(1)
IF MIC» (ELAG».1%2,1) = *N' THEN MIN*(I)=*N*:ftAX*(1) =*N"

LAG»,2,1) 0 ‘A" THEN 560
1 TO NOV
dALL*  MAX*(1) = "ALL*

NKVAR  MVAR*1

IF'nOV = 9 AND VALfVAF.t IKFVAR)) : 6 THEN NOV  NFVAR-1:GOTO0*592
GOSUB 2000

T Jlihur,™ STATHENU. BAS
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565 IF fliDt'IFLAGt.2.1) * "A* THEN 591
570 GDSUB
580 GDSUB Reeé

Die IF ANS»- N’ THEN 500
tie GDSUB 5000
630 RUN'GETVAR

1000 REN ............. GET VARIABLE NANE (COL)..........

1616 VJAB(21):HTAB ):PRINT «->Enter COL(Veriable) oF Var.no. NKVAR; :’
1020 ET*=SPACE*(2) ROW=21:CDL=3B:EOSUB 26006

1630 IF VAL(STD > 80 THtN BEEP 20,26:VTAB(22) HTAB(1):PRINT 'invalid Col(Variable),Re-enter’;:60T0 ieie
1635 IF ST* =+ « AND VAL(HID*(FLAG*1,1)) > 2 THEN RETURN

1637 IF ST* = « o THEN BEEP 20,26  GOTO 1020

1040 VAR* (NKVAR) : T»

1050 yIAB(KINKVAR): HTAB121): PRINT “V*;VAR* 1 KVAR);

1660 FOR | = 21 TO 22 VTAB(l):HTAB<l) PRINT SPC(fce)i NEXT |

ie76 RETURN

2060 BEN_ --------- GET LENGTH --------

2010 VTAB(21):HTAB(11:PRINT USING *->Enter length oF Vi < VAR*(NKVAR);
#2020 |T*=SPACE*U) RON: 2! COL=25

2040 IF VAL(ST*? > 9 THEN VTABC22):HTABuU) PRINT 'Invalid Length (Max. 9) ,Re-enter*; GOTO 2010
2050 IF ST* = » « THEN ST*=' I|*

2060 LENGTH»(NKVAR)  STS

2670 VTAB(K+NKVAR) : HTAB(34): PRINT LENGTH*(NKVAR) ;

2080 FOR 1= 21 TO 22:VTAB(11 HTAB(1) PRINT SPC(66): NEXT |

2696 RETURN

1010 IF nlnmlikvAr)  *Nm THEN VTAB(K<NKVAR):HTAB(46) PRINT 'None' :RETURN
3612 IF BID*(FLAG*,2,1) <> A THEN 3020

3014 VTAB(21):HTAB(1l PRINT *->Enter 1q« value ofF all variable '}
3015 VTAB(211:HTAB(37):ST*=INKEV»:IF ST* e+« THEN 3015

3026 VTAB421) HTAB411:PRINT USING *->Enter lo« value oF Vi : «; VAR¥(WKVAR);
3030 VTAB121).HTAB(2B) ST*=INKEV*:IF STI- _ THEN 3030

B 1 TKCTP)JIJ. (28) CTO A Turn 7A7U

3650 VTAB(22):FITAB(1):PR1n\ ’Invalid low value (Kin.'=I Nax.=91 ,Re-enter’;

3070 C10*(FLAG*,2.1) O *N' THEN 3090

3680 VTAB(L+HKVAR) HTAB(46) PRINT HIM (NKVAR)

3096 FOR | = 21 TO 22:VTAB(Il: HTAB<1j: VTAB(11:HTAB(11 PRINT SPC(60);:NEXT I
3106 RETURN

4010 IF hAiT'(nl:VAR) = 'N' THEN VTAB(»in»VAR):HTAB(61):PRINT ' None’ ;:RETURN
4012 IF HIc*(FLAG*,2,1) <> 'A" THEN 4020

4014 VTAB(21) HTAB(1): PRINT '-)Enter high value oF all variable .
4615 yTAB(211 :HTAB(38i: STI INKEY»:IF ST* : ss THEN 4015
(

(
4020 VTAB(211:HTAB(11 PRINT USING *->Enter high value oF Vi i m; VAR*WKVAR)I
4036 VTAB(21):HTAE (29) : ST*INKEY*: IF ST* : «¢ THEN 4030

4040 IF INSTRI' 1234567896 ,ST$) <> 0 THEN 4070

4050 VTAB(22) :HTAB (1):PRINT ’Invalid high value (Hin.=l Hax.=:9) [Re-enter’;
4060 BEEP 20720:G0OT0M012

4075 IF VAL( IN*(NKVAR)) ) VAL(MAX*(NKVAR)) THEN 4050
4676 IF HID»(FLAG*2.1) <> 'N' THEN 4090

4030 VTAB(K+NKVAR): HIAB(61): PRINT NAI»(NKVAR);

4690 FOR 1=21 TO 22:VTAB(1):HTABIL):PRINT SPC(60);:NEIT |
4100 RETURN
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5006 "~ « --;;;:; KEEP ftL'- DETAIL ™ B:HDNPAF. »

K3¢ field 11'1¢"A§:fP N 3 ASBETNMS. 11 AS FFGGL4 AS KKOV*4 AS NHDC»e AS PROS* 16 AS m *
646 FIELD «1,86 AS vm ’

656 LSET FFNNt * FILENARE*

6£6 LSET STNRt  STATNARE*

670 LSET FF * HIDI(FLAG*,1,11)
680 LSET NNOVt  m:  INOV)

=96 LSET NNOC*  HI.St(NOC)

695 LSET PRDGL : PROSSTAT*

166 PUT 11,1

116 FOR | * 1 TO NOV

120 BUFFl  PUFF*+VAR* (1)
5136 BUFFI  BUFF*+LENGTH*
146  BUFFI  BUFFIWRIKI (1)

156 BUFFI  BUFFUKAIKI)

166 NEXT |

5176 LSET mt  BUFF*

5196 CLOSE :VTAB(23) :HTAB ):PRINT ’111 Wait a Fe» ninute 1 please n r;
266 RETURN

9666 RER ----- Set screen.........

9626 VTAF(1):HTAB(1):PR1KT SPC426); PRDGNAREY;

9636 VTAB!3!:HTAB ) PRINT AStatistics nane ,; TATNAHE»;

9646 VTAB():HTAB(i):PRINT *->Data File  «FILENAHE*r.DAT*

9656 VTAB(5): HTAB(ll PRINT *->No. oF record in File ,JNOC;

96£6 VTASIE) HTAB ) PRINT ‘“Variable ,;NOV;

9e76 VTAB(B):HTABIi):PRINT SPC<51i*var. no.e;SPC(5)i*Var.na»e*; SPC<5); 'Lengthe;SPC(5)‘Low valuem; SPC<5)i'Hich val
9680 VTAB( ) HTAB(1) PRINT STRIKE*(79,45)i

9116 VTABU+K) HTAB(
9126 VTAB(I+): ) AB(
9136 VTAB(1+xI HTAB(
9146 VTAB *):): HTAB(
Q156 VTABU +K1: HTAB

9): PRINT 1;

21):PRINT VARIII);

34): PRINT LENGTH(1);

461 IF RINI(I)  'N* THEN PRINT ‘None’: ELSE PRINT RINI1UIL;
61): 1F RAI*(I) *'N* THEN PRINT ‘None’; ELSE PRINT HAI*(I);

vite NEIT 1
Q17ft prTIIPN
26666 RER---------- - - - INPUTROUTINE------2-==---nmomoee
26616 PER......... RON  Row
23626 RER......... coL  Col
26636 RER - --- - ST* Output string
k= * k=%
WWABFL%]PPTAB (ccoL) AH§ =IN Er\lf I[F ANS*=* THEN 26656
20670 | * = CHP*(8) An0'cCOL > COL THEN CCOL  CCOL-1 POST=POST-1:BOTO 26656
266E6 1F ANS* CHRK9) THEN ANS* « « GOTO 26110

20696 1F ANS*  CHR*<13) THEN RETURN

20135 IF POST 1= LEK(ST*} THEN RETURN

26146 ANS*-* :CCOL-CCOL-+1:POST=PDST+1

26156 GOTO 266 6

2 006 PER ----- -- ACCEPT RIN -----

2 616 VTAB(21):HTAB ) [print *->Do you accept this variable list <Y/N) !
25626 VTAB(21):HTAB(44):ANSt=INKEVI:IF ANS*  «+ THEN 25620

25630 IF INSTRCYyNnVANS*) (> 0 THEN 25640 ELSE BEEP 26,20:GOTO 25020
25646 IF INSTRI'Yy .ANSI) <> 0 THEN 25160

20656 NOV * VAL(hID*(FLAG*,1,1)): ANS* N

25676 1p ijn  SFACEU) : LENGTH! (I)=*SPACE*(1)

25680 IF RID*(FLAG* 1*2,1)  *N' THEN RINIL  N*RAI* ) N’
25696 NEXT 1

25106 RETURN



OH P ht: 330 THNEEN2 « FEINT*->Enter File naie o) y*REUHE 2%

56040 IF ERR fc THEK ENSG*  *Over430K* :GOTO 56160

*©5q IF ERR=THEN EHSGl = 'Out oF ee»ory’ GOTO 56100

)Oi© IF ERF. - 11 THEK ENSG4 - 'Division by zero’ :BOTO 501€0

©0?0 |F ERR=57 THEN EP.SG* = 'Disk I/o error* GOTO 56100

»el© IF ERR fcl THEN Er.SGi ' 'Disk Fuir :GOTO 50160

50090 EHSG)  'Spwe error occur5*RESUME 50110

11060 VTAB12J):HTAB(20):PRINT EKSEI;" AT LINE NO. «;ERL

56116 VTAP(24):HTAP(26): PRINT 'Press any key to return STAT KENU m;
50120 VTAPF24):HTAB(54): AA$  INLEVK:IF AAi e« THEN 50126

50136 CHAIN ‘ 5TATHENU
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* FEM -------- BET DATft FILE RTN — 12-eB-Bfc
;e OK ERROR EOTD 32e

> CLOSE -RESET
4- DPFEN "R* 11 "B:NONPAR UK" B$

5- FIELD 11,1?"as FFNN!,33 A$ STKML.11 as FFGG!4 as NNOVI.I AS KKOCl.e AS PRDGNM,1? AS im
b? FIELD II,Be AS YYVI

A FILENAME! ~ FFNN!  STATNAHE!  STNML  NOV  CVS(NNOVI)  NOC = CVS(NNOCO: PROGSTAT* = PROGNM!

dlee DIN m INOV+3.NOC-M ) ,HIN(NOV).HAT (NOV).LONGS (NOV) .VAR! (NOV)
neeOHHDN NOV,NOC IFILENAHEI, STATNAHE!, I~ ), IN(),HAI <) 1VAR! ()

ire GET II,:

13? POST - «

14? FOR | = 1 TO NOV

ID2 = [(YYY!,IMPOS

I =M ARHID!I(YY YT, I+HHDST+2,1))
17 AL(HID!(YIlY!, 1+ PR T+3,1))

HIDUYYY!,J+ ST+ 1))

[ |
2ol - 0nNc
2 GET «1,1
g E 1 | VAL(VAR! )),LONE ))  STRINGS(LONG(J),32) THEN  m (J,1) = -99 -GOTO 29?
2 B AL (HID! (YYY!, VAL (VAR! )),LONG(I)I)

32? PRINT ERR,ERL;(STOP

1\ . GETVAR.BAS



~"Pin HH» ONE-BI HH»
il DIj V(9)

25 % ERROR GOTO 5000

50 HTAP(20): VTAB(1): PRINT STATNAKEI;

BO if VAR*(11 e+ THEN 60TO BO

78 HTfiPi36»): VTAB(3) :PRINT m V*VAR» (1)

75 HTAP1201: VTAP(12): PRINT "till* Wait a «mute 1 please *«««««"
BO FOR | = 1 TO NDC

9 FOR J  RINIl) TO RAX(I)

100 IF m il,1) =J THEN V(J) V()M :GCTO 130

120 hj|ll = niSEINB»1
MO i = NOC-RISSW
145 IF VU) >= v<2) THEN w = V(2) : RIN = 2 ELSE VU) RIN = 1

150 IF NN > 25 THEN GOTO 260
160 'PINOMAL POUTINE => N AND X
170 11 =0 PROBEI =0

200 FOR 1=1 TO NN FAON = FACNM NEXT |

210 1=1 TO NN-n  FACNX = FAGNHI :NEIT |
220 R 1= ACJ = FACHL NEJT |
230 PROPPI PRDBB]»FACN».S‘NN/(F.ACWACNI)

|
300 2 = (( -. )- EAND/VARI
310 ™1/(1*.33267*ABS(21)i
320 R = EXPM2l;2)/2)/2.50662827*
330 T=l-P.e (4361 E<cT-. 120167tr2u93729B»TA3)
140 IF 2» -< 0 THEN 360
360 HTAB(25):VTAE(6):PRINT "Code  Frequency'
TI* . UT1SAM?) « PRixn CpriSBI
370 HTAP(25 yTAB(7l PRINT STRING*UB,45)

):

3E0 HTAP(25):VTAB(B): PRINT; HIN ); SPC<8); : PRINT USING *««a;V(tfIN (
390 HTAP(25) VTAE (9): PRINT;HAI (11,1 SPC(B) | : PRINT USING *«'ivtR AIU))
400 HTAB<24): VTAB(101:PRINTR SSino ,SPC(5) ;: PRINT USING 'irjRISSING
410 HTAP(25) "VTABIIl) : PRINT STRING* (IB,45)

420 IF NOC-HISSING > 25" THEN 490

1))

440 HTAB e"IWAB* 14: PIGNT*US Ine' VsE*; RIN;PRDBBI
460 HTAP(10):VTAB(161 : PRINT'When value oF X IS *
470 HTAP(30): VTAB(16):PR3NT : |N

490 HTAB!20):V1ABU2) :PRINT 'No oF case > 25 =) Approximate Norial distribution*
500 HTAP(201:VTAB(14).PRINT SPC( )}, 2 = »

510 HTAP (32):VTAB (141:PRINT USING Il («. *(r ;2L

) 'P PC(5) »" p ="

53 ):PRINT WBING_ .U I11'jT
54 ) RRINT ‘Do Il .ant to print 2 (Y/ N)'
55 ):F uTI{i)

[ |

rbetnJ tburnij ONE-BI.BAS

69
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60y RUN « ATHENU

ml
1020
1025
1030
1040
1050
lefcO
1070
1050

090

'ne
1130

1160
1190
1200
1210
1220
1230
1240
500
5010
5020
5030

5050
J060
5070
5080
5090
5100

[F PR 3 THEN LPRINT CHR»<12):PRT = 0 ELSE PRT = PRT+l
LFRINT:LPRINT:LPRINT TAB(25);STATNAHE» LPRINT

LPRINT LPRINT TAB(36)1"“V*VAR*(1)

LPRINT TAB(25>1“Code Frequency’

LPRINT TAB(25);STRING*(18,45)

LPRINT TAB(25); WIN(1)iSPC(8); LPRINT USING *#1m;V(HIN(1))
LPRINT TAP(25 >HAX <1>7 SPC(B}; : LPRINT USING il *;V(HAX (1i)
LPRINT TAB(i4); HiS51fiQ"] SPC(5); LPRINT USING m*#*:HISSINB
LPRINT TAB(x5);STRING*118,45)

LPRINT

LPF.ANTATAE (JOU : LPRINT USINE RSE*;KIN; PROBBI
LPRINT TAP!10)i’Nhen valu* o( I is *;HIN

LPRINT TAB(20);*No oF case > 25 =) ApprDxiaate noraal distribution*
LPRINT TAB(20);SPC(5);" z = «;

LPRINT USING *1144 .«««««*;z*

LPRINT TAB(20);SPC(5);m p = *;SPC(3);

LPRINT USING_ * ***#*[»|

LPRINT:LPRINT LPRINT STRING$(EO0,45)

RETURN

PEN e««* ERROR RUOTINE (ERR)

IF EPR=h THEN EHSG* = 'OverFlo»" :GOTO 5070

IF ERF. 7 THEN EHSG» - 'Out o( aeiDry’ -GOTO 5070

IF ERR= 11 THEN EHSG* = ’Divisi[m by jero’ -GOTO 5070

| 1 oTirrd '
i errE on THEN BHEE = pisk Fi 1P &bro K1 070
EHSG* = 'Soae error occurs.RESUHE 5070
VTAB(23):HTAB(20).PRINT ERSB*» AT LINE NO. m;ERL
VTAB124):HTAB(26):PRINT 'Press any key to return STAT HENU m;
VTAB(24) HTAB(54) AA* : INLET»: IF AA* = THEN 5090
FUN STATHENU



16 REH nui REL-WIL *xwx*

20 HEINE DIM LOI120),H]I20).TT(20),Pv2e>
26 ON ERROR GOTO 5006

50 HTAB120) VTAB(2!:PRINT STATNAHEL

60 FOR ]+ | TO NOC

0 IF=m (I,1)-m (2.1> =e THN J=J-| 2BRO=2EROH: BD/G lie
90'mi3,j) m (i,i)-m t2,1)

100 IF m<3, >e THEN PLUS = F-LiS+H ELSE NEG = NEE+1
mlié NEXT |

12U D wnr-7P&n

ne HDM « -vlby Vf

135 HTAP 2B VTAE B PRINT USINE HDR¥*; VAR*(1);VAR«(2)

Hé HTAB(20): VIAB(1le): PRINT 'Difference Frequancy m

156 HTAB(2B):VTAB(11I:FRINT STRINE*(24,45)

160 HTAB(24) VTAB(121 FRINT *4':SPC(12)i :PRINT USINE *««+*;PLUS

170 HTAB(24| VTAB 1131 : PRINT ;SPC412) T:PRINT USINE '4 | iNEE

1B0 HTAB(24):VTAB114) PRINT -emSPCU 2);:PRINT USINE .. ZERO

196 HTAE(26):VTAB(151 PRINT STRIKES(24,45)

260 HTAB(23) VTAB(16) PRINT 'Cases’ ;SPC(9)i PRINT USINE *i#**; NDC+2ERO
205 HTAB(20):VTAB11B):PRINT M ill* Nait a ainute .please s«««e"

286 IF ABS(LREF)'< ABS(ni(3,J)) AND J > | THEN J = J-|  GOTO 2B0
200 fF y =< | THEN m n /1) - FRET «GOTO 356

HI BDTO 316
j26 IF J -( | THEN 111(3,1 REF

Ipp|UXXXJ3*in' A (KREF)AND J > 1 THEN
) = [ =1
330 nU3.j) =mi3, 1) J*j-

350 IF (HI-11 < <I-LO) THEN BDTO 360 ELSE GOTO 370

360 P=p+l LOP) =LO HI(P) = 1-1 : LO - HI :GOTO 250
370 F= P+ LO(P) =ni : HI(Pl  HI : H = 1-1 GOTO 250
1 sot( 25 * Ifavl

430 Folu m 97 NOC+* ST =0
44e IF ABS(XM(3,2?)+ REP THEN GOTO 450 ELSE GOTO 460
456 CT = CHI ST = SH1 60T0 550
460 IF CT *4 6 THEN GOTO 520
470 R = STlicni)
480 FORj = I-CT-I TO 1-1
(2.3) = R

490 n i (4.0) =

506 NEXT i

510 CT = 0

0% :1(4,1) =

530 REP = ABS(m(3,D)
540 ® HEN si s 1

Lé IF PLUS < NEG THEN GOTO 610
§70 FOR 1= 1 TO NoC
580 IF ni(3,1) <O THEN T = nni(4,J>

600 GOTO 640
610 FDR | = 1 TO NOC

) ( REL-UIL . BAS

11



95
Bee

665

626
8:36
646
B56
666

E95

HTAB(3?) VIABUB! PRINT m = *T
HTAE(2e): VTAB(19): PRINT 'T*0 tail P +; SIENS;n "iPROB
SHALL» = Y

VEAN ANOCMNOG+IIM

VAR -SQRINOC*NOC+1i * (2*NDC+1)/ 24 >
Il = (T-MEAN)IVAR
TB=1/(14.33267#ABS(Z 1))

R - EIP(-121'2)/2)/2.16662B271

T :I-Ri(.4361EtJB-tIZeyC7iTB‘2+.93729B«TBA3)
IF il >='e THEN EOTO 895

HTAB(26):VTAB(18):PRINT SPCI56)
HTAB(26): VTAB} 8).PRINT *T = *T
UTURne ysUTOP( 9L «PPTMI ¢pnsi:" 7 r m
HIftB (3e) yTAB(19
HTAB (26): VTAB(26)-
HTABI36h VTAB(26

" STAT MENU
BATA 6,6,6
DATA 2,6,6

PRINT USINE =/
PRINT SPC(5);' p =
) PRINT USINE [LIUH' |TB

DATA 8,5,3

DATA 11,7,5

DATA 14 16,7
DATA 17,13,16
DATA 21,14,13
DATA 25,26,14
DATA 36 24 26
DATA 35,28,23
DATA 46 33,28
DATA 46 38,32
DATA 52 41,38
DATA 59,49,43
DATA 66,56,49
DATA 73,62,55
DATA 81,69,61

HTAP(Zefv|aB( 3) PRlNT DoTyou «ant to print 2 (Y/ N 1*
HTAB(j4 ) VTA 23):P* - »1

IF P»™ oy’ ** = *N THEN 1556

IF FRT{= 3'THEN*LPIRINTACHR*(12): PRT = 6 ELSE PRT = PRT+l
[PRINT: LPRINT: LPRINT TA6(25>|STATNAHE»:LPRINT:LPRINT
LFRINT TAB12B);

12



157e
158
1594#
lie#
1610
1628
1630
1640
1650
1660
1670
16B#
1690
1700
1710
1720
1730
1740
1750
5000
5016
5026
5030
5046
5050
5060
5070
5080
5090
5100

LFRINI USINE HDRUVAR!(1);VAR*(21 LPPINT

LPRINT TAB(26)» Difference -Frequarcy =

LFRINI TAB(20);STRING!(24,45)

LPRINT TAT(i4);m4 SPC(lZN:LPRINT USINE « !-;PLUS

(2
LPRINT f|I((2 4);*-+:SPC(12); LPRINT USINE m I-:NEE
LPRINL TAI (24);*0*;SPC(1211 LPRINT USINE « I-;ZERO
LPRINT TAB§26 STRING|(24 45
LPRINT TAB(23)i' CASE ;EPC(9);:PRINT USINE *M *+;NOGeZERO
IF_SMALLI O -y- THEN 1690

LPRINT TAB(2e>)*T = +;]
LPRINT TAB120);-i*0 tail P -;SIEN1;- m;PROB
GOTO 1740

LPRINT TAB(26);'T = =T

LPRINT TAB(26); SPC(5)» 2 : +;
LPRINT USINE m (-

LPRINT TAB(20);SPC(5);* P =

LPRINT USINE . ' B
LPRINT:LPF:INT:LPRINI STRIKE*(80,45)

RETURN
REH m » ERROR RUOTINE (ERR) ««et
IF ERR=6 THEN EHSE! = ‘Overflow* :EQTO 5076
IF ERR=7 THEN EHSE! = 'Out of leiDry- :EQTO 5676
IF ERR = 11 THEN EHSE! = 'Division by zero- :E0TO 5076
IF ERR=57 THEN EHSE! = ‘Disk ilo error* :GOTO 5070
IF ERR=61 THEN EHSE! = 'Disk full* ~GOTO 5070
EHSE! = *So»e error occirs’iRESUHE 5076
VTAEM23):HTAB120)-PRINT EHSE!;* AT LINE NO. ¢;ERL
VTABI24):HTAB(2"): PRINT *‘Press any key to return STAT HENU
VTA6(24) HTAB(54) AA! = INLETIIF AAl = THEN 5090
RUN SIATHENU



16 "I'H IIIIH IND-NAL HIIHHH

<@ HOHE : OM K(NOC«2+IMY<NOL«2-+l),RK(NOCi2+l),HH26),L0(2¢)
46 K& THE KALDHIDLFDKIT2 RNS TEST

50 HTAB(20:VIAZ2) PRINT STATNAHE

t6 HIAB(2?): VIAR(12) :FRINT "M ill Wait i limite 1 please (liltl

LR | = 1TONEL
0 IF mil,1) =-99 THN QIO 16

166 m il,!)
lie IYU) 1
126J—J+I

136 NEXT

Sri

R «l(«l SRT«««««
)

S

IF (HI-I) < (1-10) THEN GO0 356 ELSE GOID 366
P PU'LOP 1O H(P) * 11 : 0= 1+l BOO 26
P=F+ : LOP) =1#1 H(P) =H H = 1-1 Q0O 249

266 REL= NILOmiY = KYILOI

2/6 IF N\F <NU) ADJ > THN J=J- G027
26 IFJ=<1THN !) =N Xyd) IY GO0 346
26 1) =N@) XY(I) =iY1Jhl =14

36 IF ) <NGFADJ>1THN | r 1*1 BIO 366
36 IF 3i< | THN 1) : N XYIl) =X :I =J :BOO 346
326 NU) = 1) IYU) = XYI) @i =3J-I

336 QIO 276

36

36

366

T« BEND OF SRT LK
KK« RAN: « < «««(
P =-9999: CT=-1 SI=0
FRI * 1TOHGH

IF Nil) = R&P THEN GO0 459 BHSE QOIO 466
Cr =CH+l ST : Si+l BOIO 556
IF CT =< 6 THEN G0IO 526

R ST/(CT+l)

FRJ=I-CT-1 TO 111

RNJ) =R

NEXT J

RM1)6= |

N(1)
IFCr 6 THEN ST = |
NEIT |
Tk« END - RANK «
DKKY : 1Y () :RINS : 1

g J89880 S8B38858858

IF XYIl) O DY THEN RNS = RINS + 1 DUKY @ 1YI1)
616 IF NO >26 GRNDY > 26 THAN QOO 776

roo J\ IND-UAL . BAS



850

676
BB6
896
966
916
c70
936
94
9
966
976
980
996
1666
1816
626

1046
1656

lésé
1696
166

1126
1136
1146
1156

66
1176
1186
1190
1200

1220
1230
1246
1750
1766
1270
280

75

FOR | = 1 TO NX
READ TAB*

TABLE - VAL (MD» (TABS,2* (NOY-11-1,2))
IF RUNS < TABLE THEN SIEN» = '<e ELSE SIEN! = e>¢
PROB z 05 )

(76 1+ UTtR (1?1 =ppl W7 Gpri'YGl

HTAB(20) VTABL6):PRINT 'Nuaber CF run frl  '(RUNS

HTAB(26): VTAB(7): PRINT V : VAR® (
70R(7Ri« 70pni »PPlal7 Br -« Y!Bricocl
L@ ) yTAB<B):FRINT ViVAT(2)

HTA ( ): VTAE(En:PEINT »= *NDY; cases’
HTAB(26):VTAB(9):PRINT ’One-tail test p 'iSIGNt; *;:PRINT USINE *«.««««*;PROB

"IMHIIHI END OF SHALL CASES m iiH H i

IF NOX < 26 OR NDY <26 THEN ADJ = .5 ELSE ADJ = 6

VAR = 2«NOMNQY« (2«<NDS«NOY-NOJ-NOY)/( (NOHNDYP2* (NDI+NDY-1))
SD = SBR(VAR)

2 = (AES(RUNS -t (2*NOX*NOY)/ (NOX +NDY) +1) )-ADJ)/SD

TBM/n +.33267»ABE(Z»)I

R = EiF<-1212)/2)/2.50662B 27!

TB=1-R»(.4 61 4»TB-. 126167»TB 2+.93729B*TBA3)

IF 21 =< 6 THEN EOTD B66

B = 1-TB

HTAB(26):VTAB(12):PRINT SPC(50)
HTAB(26): VTAB(6) PRINT ’Nuaber of runs (r) = 'IRONS

HTAB426) VTABA47): PRINT * V' VARS$(1)
HTAB(3B) VTAB(7) PRINT «= "INDI," cases’
HTAB( 26 VTAB ):PRINT * V' ;VAR$(2)

WTAR/\Q\ VTUR(f|I»PPIMT Br B:WHY:B rjtpc*
HTAB(76):VT AB(9) :PFINT Appromaate noraal 2=
HTAB (46) VTAB(9):PRINT USINE 'H .im 'IZI
HTAB(46yVTAB(16)PRINT BP
HTAB(47):VTAB(18):PRINT USINE s«.«#«*+iPROB

EOSUB 996 '

RUN "STATNENU

HTAB126):VTAB(26):PRINT 'Do you uant to print ? (Y / N )
HTAB(55) VTAB420) PI = INPUT*(!)

IF PS= Y* (P P*="'N THEN 1636

BEEP 20,6 :E0TO 996

IF PRT== 3 THEnV rINT CHR»(12):PRT = e ELSE PRT = PRT+l

LPRINT : LPRINT:LPRINT TAB(15) TATNAHEt.LPRINT: LPRINT

LPRINT TAB(28)j* V'iVAR*41)i TAB(3B)im='"INOII' cases’
LPRINT TAB(20); V' VAR»<2);TAB(3B);*='iNOY; cases’
LPRINT TAB(20)» One-tai 1 test P *SI6N$;" «;rLPRINT USINE 'I.H H 'iPROB
LPRINT TAB(26)|' Nu*ber of runs (r) *; RUNS

LPRINT TAB(26)i* V;VAR» );’ = 'iNOIi' cases’
LPRINT TAB(26); V|VAR*(2>||: "{nOY;* cases’
LPRINT TAB(28),*ApprOX|aate noraal : Z- i

LPRINT USINE "il.inrjzi

LPRINT TAB(46);" P = "i

LPRINT USIN5 i.l111"iPROB

LFRINi : LPRINT: LPRINT STRINEt(86,45)

RETURN

DATA 66066666066886606668620202626262026262
DATA 06606006020202020207026262030303038363
DATA 66666062026"63636 6 6 0 0 638464646404
DATA 06660262030303030364046404046464056565
DATA 006202636363036464048405656505€5050666
DATA 060202636 03(" 6405650565650686 66866606
DATA 8(]026 0 6 04640565058 66606066 667076707



1290 DATA 60620303646405650566660607070707080808

I'ee DATA 0062030304650505060667070 70808080809

13! DATA 06026364040505066607070708080869690909

+:;e DATA 626263040405060607070708060 0969691010

1736 DATA 02026364050506066707686809090916161010

1340 DATA 626203640565«60767»6086969691616161111

13 e DATA 02630304650666670708680909101011111112

1360 DATA 02030464050606070808090910101111111212

1370 DATA 02030404050667070869091010111111121213

1360 DATA 02630405056607080869691010111112121313

1396 DATA 62030405066607086909161011)21213131314

1400 DATA 02620463066667080969161611121213131314

5000 REM #««# error RUOTINE ([ R) tm

5010 IF  ERR 6 THEM EMSS4  'OverFlo»' GOTO 5670

5620 IF  ERR=7 THEN [« * = 'Out oF leiDry* :BOTO 5070
030 IF ERR = 11 THEN Ef.se* = ¢Division by :ero’ :GOTO 5670
5640 IF  ERR=57 THEN EBSG* = 'Disk 1/0 Error' GOTO 5670
0050 IF  ERR*61 THEN EBSG*  'Disk Fuir :GOTO 5070

5660 EBSG* = 'Ecte error DECur ': ESUNE 5070

5070 VTAE<23):HTAB120): PRINT EBSG*" AT LINE NO. ¢;ERL
56B0 V]AB<24):HTAB120):PRINT 'Press eny key to return ETAT MENU
5096 VTAP(24):HTAB(54): AA*  INKEY*: IF AA* =" THEN 5090
5106 RUN ETATMENU



16 REM «MM r1-LOC o«oee

Ifc OR ERROR BOTD 5666

41 NM = I-E COCHRAN 0 TEST

56 HTAB(2ti) PRINT STATNAVES

06 HTAB <be) V'niB(|2) FRIK7 "H ill Nait a «mute 1 please IH ir

I | ) 0=N«A J) THEN GiJ) GH)*LEG GGl

156 EUKB = SUHG ¢ GU)A2
6? HEIT 1

166 0 ((NDV-1)* (NDVSUNG - 6SE! )/<NOVAL - LL)
19 CHI = B
266 PF NOy - 1

22 M ==CHIAtINT((PFl«l)/2))*EIP(-CHI/2)
236 FOR | DFl TO 2 STEP -2
246 M = FI/I

266 IF INT(DF1/2)  DFi/2 THEN GOTO 296
276 J  SOR(2ICHI/ 122/7))

296 GOTO 366

296 J =1

36

31

32 ]_«2

33 «CHI/DFI

35 .eéeeeél THEN GOTO 396

406 HTAP(26): ): PRINT SPC156)

416 HTAP||5 PRINT “Ail variable list*

426 HTABMe) VTAP(?) FRINT 'Code’

446 HTAP(l «L):VTAB(7):PRINT USING *1 «a;VAR6(I)| '
456 j: = K+ 5

476 HTAB(16):VTAB<8):PRINT STRINEH5«N3V+5,45)

4B6 HTAP(12) VTAB<9) PRINT MAKI)

5H HTAB1LJ+L):VTAB(9) PRINT USING m|H*:G (I);

546 HUBU2):VTAB(16):PRINT MIN(I);

D6 HTABUS5L):VTAPUG):PRINT using mllem;NOC-B<I);

PBNCNHV

595 HTAE(16):VTAPII):PRINT STRING!<5«NOV«5.45)
666 HTAB(26): VTAB(121:PRINT 'N cases is |;NOC
616 HTAB(26):VTAB(13):PEINT *e  ‘le

1.TDUI 4 K-COC.BAS



626 HTAE(26):VTAB<14>:PRINT *p %1

a25 PAINT USING *#«.#111¢;PROB

636 HIAB(26):VTAB(28): PRINT *Do you *ant to print ? <Y /[ N )e
6 HTAE(jS):VTAE!26):PI = INPUT* )

658 IF Pt = y Ot Pl = *N' THEN 876

3d6 beep 26,66 BDID 646

676 IF Pl <> Y* THEN 768

i ff .m "

ml IM>RT *Y m n T pRINT CHRI(12):PRT 6 ELSE PRT = PP.TH
1626 LPRINT LPRINT

1638 LPRINT TAB 26);STATNANEI

1646 LPRINT:LPRINT

1656 LPRINT TAE(15);*All variable list’

1666 LPRINT TAB(10)!' Code ;

96 LPRLNT*TAP(16*KU USING ‘4 Y'JVARIU);

1126 LPRINT TAB(10); STRINGS(5*NOV+5,45)
136 LPRINT TAB(12>;NAIU);

1156 FOR | = 1 TO NOV
1166 LPRINT TABUS*).):USING «|I»*;B (I):
1176 ). = )>5

1196 LPRINT TABU2);HIN(1);

1216 FOR | =1 TO NOV_

1226 LPRINT TABUS*).HUSING *lir;NOC-G (1);

1236 | ='r+5

1245 LPRINT TAB(16)i STRIKE*(5*NDV45-45)

1256 LPRINT TAB(28);'N of cases is ‘;NOC

1266 LPRINT TAB(20)1* *B

1276 LPRINT TAB(26)!*P s *5

12B8 LPRINT USING @«« *!*** PROB

1296 LPRINT:LPRINT:LPRINT STRIKE*(86,45)

1366 RETURN -

4J1&U LTM 4111 roono BUfiTiur ICDDI 4444

5616 IF ERR = 6 THEN ERSE) = «Overflon* GOTO 5876

5«28 IF ERR = 7 THEN EHSGI = ‘Out ofteiory* :GOTO 5676
5636 IF ERR = 11 THEN EASE* = ‘Division by aero’ :GOTO 5678
5048 IF ERR = 57 THEN ENSGt  ‘'Disk I/o error* :50T0 5676
5656 IF ERR 61 THEN EKSGI = ‘Disk full* GOTO 5676

5066 EHSSI = *Soae error occurs :RESURE 5876

5676 VTAB(23) HTAE126).PRINT EhSG*;m AT LINE NO. *;ERL
5086 VTAB(24):HTAB(28):F'RINT *Fress any key to return STAT (TENU m;
5696 VTAB(24):HTAB(54) AAl = IKr.EY*: IF AAl = mm THEN 5698
5166 RUN STATNENU



20 HOMJ:*dT<*SUMR:K(9AN (9*,10120),IHH26)

40 NHI

ce HTAB(25): VTAB(2): PRINT STATNAMELi

60 HTAP( 2«

VTAB ( 12 PRINT

I I I [—IEN MISS :18&1 :SOTO 136

196
20e

l«
220
236
2(0
250

270

796
400
410
426
430
440
450
460
470
4B6

500

540

560
570

596
600
610

MHE KRUSKAL-WALL1S ONE-WAY ANALYSIS or VARIANCE BV RANK'

Wait a «imite 1 please #*«#in

KREFL= ni(3A0) iXY = XIX(4,LO)

IF KREF (in (3,.) D >ITHENJ J-1 : 60TO 206

IF <1 THEN XX (3,1) = KREF XXX( 1) = :EOTO 270
m<3,) = XXX(3,J)  HIM.Il = XXX(4.3):1 * 1+1

IF 111(3.1) < KREF and j > | THEN R SOTO 230

IF <] THEN 111(3,1)" KREF  XXX(4,1) = IY :I = J :60T0 270
1(3% "1 111(3,1) : XXX(4fJ) * 1)111,11 J = J |

JF (HI-1)

< (I-LO) THEN GOTO 2B0 ELSE GOTO 290

IF CT =< 6:THEN 60TO 466

R = ST/(CT4I)

SUNT - SUNT # ((CmiA3 - (CTM)I
FOR J = I-CT-1 TO 1-1

1 (5.) =R

1)
EN ST * |

| END OF RANK

[finjM ? '<)JTTHENISUNRK( )  SUNRK(J)+m(5,1)

NEXT

FOR | = HINI2) TO HAII2)-
H IM <SUHRKII) 2/N(1))

H= (12/(NOC»(NOC«L)))*H - (3«(NOC- )
IF SUNT = « THEN 630
H=H/ (1 -

SUNT/ (NOC«(NDC' 2-1)))

K- KRU .BAS

‘N() = NIJH1 :SOTO 550

19



63 FOR 1 HIN(2) TO nAX(2)
646 «Ri:(I) = SUHRHUWNU)

666 HTAB(26):VTAB(12):PRINT SPC(50)
676 HTABC25> VTAB(5) PRINT + V¥VAR* (1);

706 HTAB(*?):VTAB(7) PRINT m V;VAR*(2)
716 FOR | = MIN12) TO MAX12)

726 HTAB(21+K) VTAB(7) PRINT 1;

736 K ='t:*6

756 HTAB(26): VIAB

(8): PRINT STRING*<(1- 1}*fc,45)
766 HTAB(5):VTAB(9)

PRINT 'Kean of rank*

766 FOR 1 = HIN(2) TO MAX12)
756 HTAB 126+»;): VTAB(9) : PRINT USINE *e*«.«m; MRK(1);
Boé K

E26 HTAB(5):VTAB(16):PRINT *N of class*

646 FOR | = HIN(2I TO HAIL2)
656 HTAB(26+K) VTAB(16) PRINT USING **t«' ;N (I);
BU6 H = H+6

B75 HTAB(26):VTAB(11):PRINT STRING*(6*MAX<2),45)
EB6 HTAB(26): VTAB(14)SPRINT *No of cases is | :NOC
696 HTABL26):VTAB(15):FRINT *H = *:H

9)6 HTAB(I6):VTAB(L5):PRINT *<««H N of cases < 16
926 GOTO lise

936 DF  MAX(2)-MIN(2)

946 DFI = COF

966 HI ==CHr(JNTI(DFMI/2) HEIPI CHI/2)

976 FOR 1= D 2 STEP -

98ﬁ Hi g H

| IN FI/2)  DFI/2 THEN GOTO ie36
2/CH|/<22/7

1696 IF HI 6661 THEN GOTO 1136

1166 LI = 1_|+H*

1126 GOTO 1866

1136 PROB  i-J*KI*LI

1146 HTAB(26) : VIAB( ): PRINI *p =
41 PRINT USING ml.le«le;PROB

lif - S
1 HTA *Dojlou »ant to prjt ?
151MHTAB( VT B 6 INPURF (1)

]JBG [FRINT:[print -
'596 [ print TAB(261i* ViVARKI);
V,VAR*42)i
MIN42) TO MAX42)

1626 [ print TAB45)»"
1636 FOR |

please look tp table fro* iannual ****x*

™

80



1640 LFRIKI TABI21+K): 1,
1656 1. = M6

1670 LPRINT TAB(20);STRINGJ((I-11«6,45)
tee LPFINT TAB(“}t Kean oP rank*;

1760 FOR 1 = MM2) TO HAT12)
1716 LFRIKT TAB(2e+K>i{USIKB *HI.r;HR M ) ;

1746 LFRIKT LPRINT
756 LPRINT TAB(5); *No. of class’;

1776 FOR 1 = MM2) TO HAI12)
1786 LPRINT TAB(2F+K); USIKB "I 11'TM 1);

1B05 LPRINT TAB(2e>STRINGS<i«HAI<2),45)

1810 LPRINT TAB(20)|'N of cases is *NOC

1B26 LPRINT TAB(26);'H: *H

IB3v IF NDC ) 15 THEN ]B66

1846 LPRINT TAB(16);'«<**e N of cases < It please look up table Pros iinnual Hi**’
1856 GOTO 16B6

1866 LPRINT TAB(20)5*p = m;

1B76 LPRINT USING 'i.H tI'iPROB

1886 LPRINT:LPRINT.LPRINT STRIKES(ee,45)

&E&% cFilf—ln-'{J |RH! cponD r  Tiar frPDi «144

5016 if ERR 6 THEN ERSES = 'Overflos’ GOTO 5670

5020 IF ERR=7 THEN EKSBS  'Out oF eesory’ :GOTO 5670

5630 IF ERR=11 THEN EKEES = 'Division by zero’ GQTO 5670

5646 |IF ERR=57 THEN ERSES 'Disk i/o error* :GOTO 5076

5656 |IF ERR=61 THEN EKSBS = 'Disk Puli’ GOTO 5070

5060 EKSBS = 'Sose error occurs REBUKE 5070

5670 VTA8(23):HTA8§26)-PRINT ErSEt;” AT LINE NO. *;ERL

5086 VTAP124! HTAE(26): PRINT 'Press any key to'return STAT HENU '!
5696 VTA8(24):HTAE(54) AAS 1 IKKETS:IF AAS = " THEN 5690

5166 RUN STATHENU



Ht FEB! « MUM» CDR-SPE »#«»ene«

;¢ HOME : DIM LO(2«t),HI (2«)

4. NKt  “The Speartan corrflatiDn CDE-fficlente

50 HTAB(2«):VTAb<2) PRINT STATNANEJ;

t« HTABI26) VTAB(4) PRINT m V:VAR» );* and VIVAMI?2)
65 HTAP<ré): VTfiBf 12) PRINT 'HIM «ait a lunule 1 please m il'

4 iEAXmi, °=N99 or m<2,1) = -99 then"MISSING = «]SS|N5+1: BDTD fee
W (3,N)
% 15N> m (2,1)

1*5 NOC = NOC - MSSIKG

M .

= SBR(VAR)

310 RS SUHI 4 SUMY - SUND)/(2«SD)
320 IF «oc > 10 THEN GOTO 416

330 FOR | - 4 TO NOC

340 READ T1,T2

360 1F*RS => T2 THEN SIGN*
370 IF RS => T1 THEN SIEN*
360 SIGNS * ®>m  PROS = .05

<m 'ROB .01 :60T0 390
*<» :PROB = .05 GOTO 396

"400 REN ****** END OF ENALL SAMPLE «««44444»
410 VAR = iNDC-2)/(1-RSA2)
420 SD = EOF(VAR)

D

430 T = RS

40D=NC-2 TT=T

450 X=1:¥ = L.T=T,2

460 IF T < 1 THEN GOTO 496

476 SAY:R =E:l =T

510 ISBR();»ZA(2/3)4])

S6 x*i .25/(1+LHO9éB54+L«(.115194+L«(.000344+L*.619527))))A4
540 GOTO 576

E50 L - LM1*.6E»L"4/R'3)

560 GOTO 530 «

576 IF TO 1 THEN 590

590 HTAB(26):VTAB(4):PRINT *Spear»an ran) correlation coeFficient (Rs) = *IRS
591 HTAB(26):VTAB(12) PRINT SPC(50)

f J COR-SPE . EAS



aee HTAB(2«0:VTAB(7):PRIMT « -fiber of taies JS “;NOC

il16 HTAB<2&) VTAB(B) PRINT 'Testing.the significance of Rs "i
62e IF NOC > 16 THEN 66e

fc3B PRINT  p ";S16N(;

640 PRINT USING 'I.m 1";PROS

650 GOTO °

676 HTAB(20):VTAB(9):PRINT * t = +;
471 PRINT USING m . '

472 PRINT « and df  ml>
fcB0 HTAB!20).VTAB( 16)'PRINT mp = m;
691 PRINT USING o

1 -0 ™
720 RATH H im i SORT « « m il»
m _ P=0:L0=1:KI=NOC _
) IF HVD = «'then goto Eli

746 KREF = nm.LO) :RKI 1IH5.L0)
776 IF KREF ( 111(3, AND J > Then 3 = J-| : GOTO 776
786 IF y-( | THEnT il(3,1)" FREF :111(5,I) - RKIjGOTO B46

E66 s* JIM J)1*11.M* ANp*Jf > J* THENL(V i 411: GOTOLBOO
E16 IF J < | THEN >11(3,1) = REF ) =RKI | =J :GOTO 846
E26 111AIJM - in 13,1) .11 (5J) = 111(5,1) 3 = J-I

840 J < (I-LO) THEN GOTO B56 ELSE GOTO B40
£50 F = P+1 :LO(P) = LO : HI(PI = 1-1 : LO_= 1+1 :GDTO 740

|
)
640 p 2 R O(P) 11 HUP) - HI L'HT 1 GOm0 740
il
89 . - P-1
ITz I BEERER

AN IF 0 THEN GOTO 1636
97(R -WPTF(CT+))

96l SUNM  SUNT + I(CT+I)A3 - ICT+1))/12
9o FORM = 1-CT-I TO 1-1

1o XIl4.3) =R

1646 REP = [I1 13,
lésé IF CT = 6 THEN ST = 1

1685 ghEXT

B

1

4 : |PR| 'Doiiiltop t W(YAN)
4 ; INPUTI(L

4060 LPRINT:LPRINT:LPRINT TAB(20) |ET NE»: LFRINT:LPF JNT
4076 LFRINT TAB(2«) * V‘ '|v ‘mand V*VAR2)

46E6 LFRINT. PRINT

4096 LPRINT TAB!26);' Spearian rank correlation coefficient (Rs) 1 m;RS
4160 LPRINT TAP126), Nuiber of cases is ¢;NOC

4116 LFRINT TAB(20);'Testing the significance of Rs m;

4120 IF NOC > 16 THEN 4166

4136 LFRINT *: p 'isiGNI,

4 46 LFRINT USING . " PROP

4146 LFRINT TAE126);' t = 'iiLPRINT USING m .<It«a;TT LFRINT m AND df = *;D

83



4170 LPftINT TAP(2e>;* p = '; :LPRINT USING ‘I.111IM
4175 [print LFRINT :LPFINT string»(€0,45)
4180 RETURN

'8¢ REN «H» ERROR RUOTINE (ERR) «»#*
50)6 IF ERR | THEN EnSES  'Over{1D** GOIO 5676

76 IF ERR 7 THEN ERSE* = 'Out of *e»ory* :GOTO 5676
5630 IF ERR = 11 THEN ERSE* = 'Division by ;ero' GOTO 5070
5040 IF ERR=57 THEN ERSE* = 'Disk /o error' GOTD 5070
5050 IF ERR=11 THEN ERSE* = 'Disk full' GOTO 5070
5060 ERSE* = ’'So»e error occtrs":RESLIHE 5076
5676 VTfiP(23):HTftBi:e):PRINT ERSEti AT LINE NO. mERL
5060 VTAB(24):HTAB(20):PRINT 'Press iny key to return STAT NENU
5090 VTA&!24):HTAB(j4): Afi*  INKEY*:IF AA* " THEN 5090
5100 RUN'STATRENU
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